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 Answer the following questions أؽخ ػِ ثلأستيز ثلأصٞز:
 أختش الإجاتح ػه )أ( أو )ب(: -1

 

 :أحذ اٌمصطٍحاخ الأتيح ػشف

 ثىقَٞز ثىفؼجىز ىيضٞجس ثىَضشدد ( أ)

 قجػذر ىْض  ( ب)

Choose to answer (a) or (b). 

Define one of the following terms: 

(a) Effective value of AC current.  

(b) Lenz’s law 

1.  

……………………………………..……………………………………..…………

…………………………..……………………………………..……………………

………………..……………………………………..………………………………

……..……………………………………..……………………………………..….. 

 

 أختش الإجاتح ػه )أ( أو )ب(: -2

 

لأحذ أوتة اٌتؼثيش اٌشياضي 

 اٌمىاويه الأتيح:

 ٍؼجدىز دٙ دشٗىٚ. ( أ)

 ثىؼلاقز دِٞ ثىنضيز ٗثىطجقز. ( ب)

Choose to answer (a) or (b). 

Write down the mathematical expression 

for one of the following equations: 

(a) De Broglie equation. 

(b) The relation between mass and energy.   

2.  

……………………………………..……………………………………..…………

…………………………..……………………………………..…………………… 

 

 أختش الإجاتح ػه )أ( أو )ب(: -3

 

 :مما يٍي واحذ لاسن صوج

ثىَقجٍٗز ثىنٖشدٞز ٗثىَقجٍٗز  ( أ)

 ثىْ٘ػٞز ٍِ فٞظ ٗفذر ثىقٞجط. 

ص٘صٞو ػذد ٍِ ثىَقجٍٗجس  ( ح)

ٗػيٚ  ثىض٘ثىٜثىَضَجعيز ػيٚ 

ٍِ فٞظ ثىَقجٍٗز  ثىض٘ثصٛ

 .ثىَنجفتز

Choose to answer (a) or (b). 

Compare a pair of the following: 

(a) Electric resistance and specific resistance 

in terms of the measuring unit.  

(b) Connecting a number of identical 

resistors in series and in parallel in terms 

of the equivalent resistance 

3.  

  Point of comparison  

………………………... 

………………………... 

………………………... 

 

………………………... 

………………………... 

………………………... 

 

 

 

 



7102/    7102العام الدراسي  –الفيزياء بالانجليزية  –نموذج امتحان شهادة اتمام الدراسة الثانوية العامة   

2 
 

 :ػًٍ ٌما يأتً -4

 

ٗؽ٘د ؽٖذ ٍؼيً٘ ٗعجدش فٚ دثةشر 

 .ثلأٍٗٞضش

Give reason for: 

The existence of a constant and known 

voltage in the ohmmeter circuit. 

4.  

……………………………………..……………………………………..…………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..…………………… 

 

( 11ثىؼششٝز )ػذش ػِ ثىقَٞز  -4

 ثىْظجً ثىغْجةٜ.فٚ 

Express the decimal value (11) in the binary 

code.  

5.  

……………………………………..……………………………………..…………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

……………………………………..……………………………………..…………

…………………………..……………………………………..…………………… 

 

 :لاسن -6

 

ثىطٞف ثىخطٚ ٗثىطٞف ثىَسضَش 

 .ٍِ فٞظ ٍغجه ىَصذسَٕج

Compare between: 

Line spectrum and Continuous spectrum in 

terms of an example of their source. 

6.  

Continuous spectrum 

 ثىَسضَشثىطٞف 

Line spectrum 

 ثىطٞف ثىخطٚ

Point of comparison  

………………………... 

………………………... 

………………………... 

 

………………………... 

………………………... 

………………………... 

 

Example of its source 

 ٍغجه ىَصذسَٕج
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 ثدسط ٍخطػ ثىذثةشر ثىزٙ أٍجٍل: -7

Study the given circuit diagram: 

 

 

 

 

 

 

 

 

 

 

7.  

ٍج ّ٘ع ثىضشثّضسض٘س ثىَذِٞ أولا: 

 فٚ ٕزث ثىشنو؟

 

: ٍج صأعٞش صٝجدر ثىَقجٍٗز حاويا

ػيٚ قَٞز ثىؾٖذ     (RV)ثىَضغٞشر  

(V2)؟ 

First: what is the type of the transistor shown 

in this diagram? 

Second:   what is the effect of increasing the 

variable resistance (RV) on the value of 

voltage (V2)?  

 

……………………………………..……………………………………..…………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..…………………… 

 

ٝضصو ٍيف فيضّٗٚ دَصذس  -8

 ىيضٞجس ثىَضشدد.

ٍج صأعٞش ثىضؼذٝلاس ثلأصٞز ػيٚ 

 ثىقغٞز؟ ٍفجػيضٔ

: ثدخجه سجق ٍِ ثىقذٝذ أولا

 ثىَطجٗع دذثخئ.

: ثدؼجد ىفجصٔ قيٞلا دؼٞذث ػِ حاويا

 دؼعٖج ثىذؼط.

A solenoid is connected to an AC supply. 

 What is the effect of the following 

modifications on its inductive reactance? 

First: inserting a soft iron rod inside it. 

Second: stretching its turns slightly away from 

each other.  

8.  

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

……………………………………..……………………………………..…………

…………………………..……………………………………..……………………

…………………………..……………………………………..…………………… 
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ٝذِٞ ثىشنو ثىضغٞش فٚ قَٞز ثىضٞجس ثىَض٘ىذ ٍِ  -9

 دْٝجٍ٘ دسٞػ أعْجء دٗسثُ ٍيفٔ. 

 :أوجذ

 

 : ثىسشػز ثىضثٗٝز ىذٗسثُ ثىَيف.أولا

  0.04: ٍض٘سػ قَٞز ثىضٞجس ثىَض٘ىذ خلاه حاويا

 .عجّٞز

The given graph shows the change 

in the value of current generated 

from a simple dynamo as its coil 

rotates,  

Find: 

First: the angular velocity of the 

coil rotation. 

 

Second: the average value of the 

generated current during 0.04 

seconds. 

 

9.  

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

……………………………………..……………………………………..…………

…………………………..……………………………………..……………………

…………………………..……………………………………..…………………… 

 

 أختش الإجاتح ػه )أ( أو )ب(: -11

 

 اروش دوس أي مه:

فٚ ثسط٘ثّز ثىقذٝذ ثىَطجٗع  ( أ)

 ؽيفجٍّ٘ضش ثىَيف ثىَضقشك.

 ٍؾضا ثىضٞجس فٚ ثلأٍٞضش. ( ب)

Choose to answer (a) or (b) 

Mention the role of: 

(a) The soft iron cylinder in the moving 

coil galvanometer   

(b) The shunt resistance in the ammeter. 

10.  

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

……………………………………..……………………………………..…………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..…………………… 
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 تش الإجاتح اٌصحيحح:أخ -11
ثىَسضخذٍز فٚ  صورة الطالة

ثعجسر رسثس ثى٘سػ ثىفؼجه فٚ 

 ىٞضس ثىصذغجس ثىسجةيز ٕٚ ...

 

 ظ٘ةٞز

 مٖشدٞز

 فشثسٝز

 مَٞٞجةٞز

Choose the correct answer: 

The form of energy used to excite the atoms 

of the active medium in the liquid dye laser 

is … 

 

Optical  

Electrical 

Thermal 

Chemical 

11.  

 

رمش ػجٍو ٗثفذ ٝؤعش ػيٚ أ -11

ػضً عْجةٜ ثىقطخ  ثصؾجٓ

 ثىَغْجغٞسٜ ىَيف.

Mention one factor that affects the direction 

of the magnetic dipole moment of a coil. 

12.  

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

……………………………………..……………………………………..………… 

 

 :ًٍ ٌما يأتًػ -13

 

ٝسضخذً ثىيٞضس فٚ ػَيٞز ثػجدر 

 ثىضقجً شذنٞز ثىؼِٞ.

Give reason for  

Laser is used in the operation of the 

reconnection of retinal detachment. 

13.  

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

……………………………………..……………………………………..…………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..…………………… 
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  .Choose the correct answer: 14 أختش الإجاتح اٌصحيحح: -14
 

 

 

 

 

 

 

فٚ ثىشنو ثىَذِٞ ، ى٘فع ٍشٗس صٞجس 

خلاه ثىؾيفجٍّ٘ضش ٍِ ثىطشف  مٖشدٚ

 ( ػىذ ....1( إًٌ اٌطشف )2)

 

       (S) المفتاح  غلك          

          (R)زيادة مماومة الريوستات          

        (A)ٍِ ثىَيف  (B)صقشٝخ ثىَيف          

        (B)ٍِ ثىَيف  (A)صقشٝخ ثىَيف          

In the given figure, it is noticed that 

an induced current passes through 

the galvanometer from terminal (2) 

to terminal (1) when … 

 

The switch (S) is turned on 

The resistance of the rheostat (R) is 

increased 

The coil (B) is moved nearer towards 

the coil (A). 

The coil (A) is moved nearer towards 

the coil (B). 

 

 

 :لاسن -15

اٌتصىيش حلاحً الأتؼاد واٌتصىيش 

اٌمؼٍىماخ  اٌؼادي مه حيج

اٌمسجٍح ػًٍ ٌىح اٌتصىيش 

 .اٌحساط

Compare between                                            :

Holography and Ordinary photography in 

terms of the recorded information on the 

photographic plate. 

15.  

Ordinary photography 

 اٌتصىيش اٌؼادي

Holography 

  اٌتصىيش حلاحً الأتؼاد

Point of comparison  

………………………... 

………………………... 

………………………... 

 

………………………... 

………………………... 

………………………... 

 

Recorded information 

on the photographic 

plate 

اٌمؼٍىماخ اٌمسجٍح ػًٍ 

 ٌىح اٌتصىيش اٌحساط

 

a 

b 

c 

d 

 أ

 ب

 جـ

 د
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سجق ثىضجىٚ ٝذِٞ ثىشنو  -15

 m 0.2غ٘ىٔ  (AB)ٍؼذّٚ 

 m/s 8ٝضقشك دسشػز ٍْضظَز 

ػَ٘دٝج ػيٚ ٍؾجه ٍغْجغٞسٜ 

ثصؾجٕٔ إىٚ  T 2.5مغجفز فٞعٔ 

ثىذثخو ػَ٘دٝج ػيٚ ٍسض٘ٙ 

 ثىصفقز.

The figure below shows a metal rod 

(AB) of length 0.2 m is moving at a 

uniform velocity 8 m/s perpendicular to 

a magnetic field of flux density 2.5 T 

whose direction is inward perpendicular 

to the paper plane. 

16.  

 

 

 

 

 

 

 

 

 

شذر ثىضٞجس ثىَجس خلاه  احسة

)تفشض اهماي  6Ωثىَقجٍٗز 

 مماومح اٌساق اٌمؼذوً(

Calculate the intensity of the current in 

the resistance 6Ω (neglecting the rod 

resistance). 

 

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

……………………………………..……………………………………..…………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..…………………… 

 

ٍ٘ؽٚ غ٘ه فسخ أغ٘ه أ -17

ىيع٘ء ثىَشةٜ ثىَْذؼظ ٍِ 

 رسر ثىٖٞذسٗؽِٞ.

Calculate the longest wavelength of the visible 

spectrum emitted by the hydrogen atom.  

(h= 6.625 x 10 
-34 

J.s, c = 3 x 10 
8
 m/s) 

17.  

…………………………..……………………………………..……………………

……………………………………..……………………………………..…………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..…………………… 

 

A 

B 
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أختش الإجاتح  -18

 اٌصحيحح:

 Aعيز أسدغ ٍصجدٞـ ٍضَج

 ٗB  ٗC  ٗD  ٍضصيز

ٍغ دطجسٝز ٍَٖيز 

ثىَقجٍٗز ثىذثخيٞز مَج 

ٍذِٞ دجىشنو. فئرث مجُ 

فشق ثىؾٖذ دِٞ غشفٚ 

،  C  ٕ٘3Vثىَصذجؿ 

صنُ٘ ثىق٘ر ثىذثفؼز 

ثىنٖشدٞز ىيذطجسٝز 

........... 

 

6 V 

9 V 

12 V 

15 V 

 

Choose the correct answer: 

Four identical electric 

bulbs A, B, C and D 

are connected with a 

battery of negligible 

internal resistance as 

shown in figure. If the 

potential difference 

between the terminals 

of the bulb ( C ) is 3V, the electromotive force of 

the battery would be …  

6 V 

9 V 

12 V 

15 V 

18.  

 

 أختش الإجاتح ػه )أ( أو )ب(: -11

أوتة اٌصيغح اٌشياضيح اٌتً 

 تستخذَ ٌحساب أي مه :

صشدد ثىشِّٞ فٚ دثةشر  ( أ)

LCR. 

مَٞز ثىشقْز  ( ح)

ثىَضشثمَز ػيٚ ٍنغف ػْذ 

ص٘صٞئ دَصذس صٞجس 

 ٍسضَش.

Choose to answer (a) or (b): 

Write down the mathematical formula 

that is used to calculate:  

(a) The resonance frequency in a LCR 

circuit.  

(b) The quantity of charge accumulating 

on a capacitor when connected to DC 

supply. 

19.  

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

……………………………………..……………………………………..…………

…………………………..……………………………………..……………………

…………………………..……………………………………..…………………… 

 

 أ

 ب

 جـ

 د

a 

b 

c 

d 
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أختش الإجاتح ػه )أ( أو  -21

 )ب(:

 لاسن صوج مما يٍي:

قجػذر ثىٞذ ثىَْٞٚ لأٍذٞش  ( أ)

ٗقجػذر ثىٞذ ثىَْٞٚ ىفيَْؼ ٍِ 

 فٞظ ثسضخذثً مو ٍَْٖج.

ثىشقَٞز أؽٖضر ثىقٞجط  ( ح)

ٗأؽٖضر ثىقٞجط ثىضْجظشٝز ٍِ 

فٞظ غشٝقز ػشض قَٞز 

 ثىنَٞز ثىَقجسز.

Choose to answer (a) or (b): 

Compare one pair of the following:  

(a) Ampere’s Right hand rule and Fleming’s 

right hand rule in terms of their use 

(b)  Digital measuring instruments and 

analog measuring instruments in terms of 

the way they display the value of the 

measured quantity. 

20.  

  Point of 

comparison  

………………………... 

………………………... 

………………………... 

………………………... 

 

………………………... 

………………………... 

………………………... 

………………………... 

 

 

أختش الإجاتح ػه )أ( أو  -21

 )ب(:

 لإحذي اٌظاهشتيه :ػًٍ 

َٝنِ ثسضنشجف ثىَ٘ثسد  ( أ)

ثىطذٞؼٞز صقش سطـ 

 ثلأسض ػِ دؼذ

لا ٝسضطٞغ ثىع٘ء ثىَشةٜ  ( ح)

 ثىَشٗس خلاه ٝذك. 

Choose to answer (a) or (b): 

Give reason for of the following phenomena:  

(a) Natural resources underground can be 

detected remotely. 

(b) Visible light can not penetrate through 

your hand.  

 

21.  

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

……………………………………..……………………………………..…………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..…………………… 
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 أختش الإجاتح اٌصحيحح: -11

 

ٝذِٞ ثىشنو سينجُ ٍض٘ثصٝجُ. 

  a, b, c, dٗظؼش ثىْقجغ:  

 ػيٚ أدؼجد فسخ ٍقٞجط سسٌ

. ػْذ أٙ ّقطز ٍْٖج ٍْجسخ

صْؼذً مغجفز ثىفٞط 

  ؟ثىَغْجغٞسٜ

 

a 

b 

c 

                d 

Choose the correct answer: 

The figure shows two 

parallel wires. Points 

a, b, c, d are drawn 

due to scale. At which 

point the magnetic flux 

density is zero?  

a 

b 

c 

d 

22.  

 

ٚ ظجٕشر مٍ٘ضُ٘ ، ىَجرث ف -12

ٝنُ٘ ىيف٘صُ٘ ثىَضشضش غ٘ه 

ٍ٘ؽٚ أمذش دثةَج ٍِ ثىط٘ه 

 ثىَ٘ؽٚ ىيف٘صُ٘ ثىسجقػ؟

In Compton effect, why does the scattered 

photon always have a longer wavelength than 

the incident photon?  

23.  

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

……………………………………..……………………………………..…………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..…………………… 

 

 

 أ

 ب

 جـ

 د

a 

b 

c 

d 
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ٍج ثىَقص٘د دجىَْطقز  -13

 ْجةٞز؟ثىقجفيز فٚ ثى٘صيز ثىغ

What is meant by the depletion region in pn 

junction? 

24.  

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

……………………………………..……………………………………..…………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..…………………… 

 

فٚ ثىذثةشر ثىنٖشدٞز ثىَذْٞز  -14

  I2 دجىشنو ، ثفسخ شذر ثىضٞجس
For the electric circuit shown in the figure 

calculate the current intensity I2. 

25.  

…………………………..……………………

………………..………………………………

………………..………………………………

……..…………………………………………

………………..………………………………

……..……………………………………..…

…………………………………..……………

…………………………………..……………

………………………..………………………

………………………..……………………………………..………………………

………………………..……………………………………..………………………

………………………..……………………………………..………………………

………………………..……………………………………..………………………

………………………..……………………………………..………………………

………………………..……………………………………..………………………

………………………..……………………………………..………………………

………………………..……………………………………..………………………

………………………..……………………………………..…………………… 
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ثىَض٘سطز ػيٚ صذسٝؼ   ثىْقطز -15

ٍسؾو     (  - 0) ثلأٍٗٞضٞش دِٞ

فئرث مجُ . Ω 1500 ػيٖٞج قَٞز

ثلأٍٗٞضٞش ٝضشمخ ٍِ ؽيفجٍّ٘ضش 

      ٍٗقجٍٗز عجدضز،  Ω 250   ٍقجٍٗضٔ

1 kΩ، ٗٗدطجسٝز  سٝ٘سضجس ،

قَٞز . أوجذ ٍَٖيز ثىَقجٍٗز ثىذثخيٞز

َطي٘دز ٍِ ثىشٝ٘سضجس ثىَقجٍٗز ثى

إىٚ صفش ىؾؼو ثىَؤشش ْٝقشف 

 صذسٝؼ ثلأٍٗٞضش.

The midpoint of the scale of an ohmmeter 

between (0 -  )   marked as 1500 Ω. If the 

ohmmeter is composed of a galvanometer 

of resistance 250 Ω, a fixed resistance        

1 kΩ, a rheostat and a cell of negligible 

internal resistance. Find the resistance 

value taken from the rheostat to make the 

pointer deflect to zero position of the 

ohmmeter.   

26.  

…………………………..……………………………………..……………………

……………………………………..……………………………………..…………

…………………………..……………………………………..……………………

…………………………..……………………………………..…………………… 

 

ٍق٘ه مٖشدٜ ٍغجىٚ ٝقض٘ٙ  -17

ىفز   500ٍيفٔ ثلادضذثةٚ ػيٚ 

 ىفجس.   10ٍٗيفٔ ثىغجّ٘ٙ ػيٚ 

أٗؽذ فشق ثىؾٖذ دِٞ : أولا

ثىَيف ثىغجّ٘ٙ إرث مجّش غشفٚ 

دثةشصٔ ٍفض٘فز ٗفشق ثىؾٖذ دِٞ 

 .V 120غشفٚ ثىَيف ثلادضذثةٚ 

 

: أٗؽذ صٞجس ثىَيف ثلادضذثةٜ حاويا

إرث ثصصو ٍيفٔ ثىغجّ٘ٙ دَقجٍٗز 

 ؟Ω 15ٍقذثسٕج 

 An ideal transformer has 500 turns in the 

primary coil and 10 turns in the secondary 

coil. 

First: Calculate the secondary voltage if the 

secondary circuit is open and the primary 

voltage is 120 V. 

Second:  Determine the current in the primary 

coil, given that the secondary coil is 

connected to a resistance 15 Ω? 

27.  

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

……………………………………..……………………………………..…………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..…………………… 
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 أختش الإجاتح ػه )أ( أو )ب(: -18
ثىق٘ر ثىذثفؼز ػشف :  ( أ)

 ثىنٖشدٞز ىذطجسٝز

ثىض٘صٞيٞز ػشف : ( ب)

  .ثىنٖشدٞز ىَجدر

Choose to answer (a) or (b) 

(a) Define: The electromotive force of a 

battery. 

(b) Define: The electric conductivity of a 

material.  

28.  

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..…………………… 

 

 أختش الإجاتح ػه )أ( أو )ب(: -19

 

 :جهاصيهاروش استخذاما واحذا لأحذ اٌ

 ثلاسذنضشٍٗٞضش )ثىَطٞجف( ( أ)

  أّذ٘دز م٘ىذػ ( ب)

Choose to answer (a) or (b) 

Give one use of one device: 

(a) Spectrometer. 

(b) Coolidge tube.  

29.  

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..…………………… 

 

ٝؤعش ػيٚ  ػاملا واحذامش أر -23

ثىط٘ه ثىَ٘ؽٚ رٙ أقصٚ شذر 

ثشؼجع فٚ ثلاشؼجع ثىصجدس ػِ 

 ؽسٌ سجخِ.

Mention one factor that affects the 

wavelength that has maximum intensity in 

the radiation emitted by a hot body. 

30.  

…………………………..……………………………………..……………………

…………………………..……………………………………..…………………… 
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 أختش الإجاتح ػه )أ( أو )ب(: -21

 اٌجٍفاوىمتش يحمك أي أجضاء 

 ؟ اٌتاًٌاٌششط 

دَؾجه  ٔصأعش ٍيف ( أ)

 ٍغْجغٞسٚ عجدش. 

إىٚ  ٓإػجدر ٍؤشش ( ب)

صفش صذسٝؾٔ دؼذ فضـ 

  ثىذثةشر ثىَضصو دٖج.

Choose to answer (a) or (b) 

Which part of the galvanometer acts to 

fulfill the following condition?  

(a)   The galvanometer coil is influenced 

by a constant magnetic field. 

(b) Restoring its pointer to zero position 

after turning its circuit off.   

31.  

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..…………………… 

 

 تش الإجاتح اٌصحيحح:أخ -21

 

فٚ دثةشر صٞجس ٍضشدد ، ٝضصو 

  ٍيف فظ ٍفجػيضٔ ثىقغٞز

40Ω 30 ٍٗقجٍٗضٔ ثلأٍٗٞزΩ 

دَصذس ٍضشدد قَٞز ؽٖذٓ 

فئُ ثىقذسر . V 60 ثىفؼجه

  ثىَفق٘در فٚ ثىذثةشر صسجٗٙ ...

 

43.2 W 

51.4 W 

72 W 

120W 

 

Choose the correct answer: 

In AC circuit, an inductive coil of inductive 

reactance 40Ω and ohmic resistance 30Ω is 

connected to an AC supply of effective 

voltage 60 V. the dissipated power in the 

circuit equals ….  

43.2 W 

51.4 W 

72 W 

120W 

 

32.  

 

 

 

 أ

 ب

 جـ

 د

a 

b 

c 

d 
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  .Give reasons for: 33 ػًٍ ٌما يأتً: -33

 

 

 

 

تضداد  لشاءج اٌفىٌتميتش اٌمثيه 

تاٌشىً ػىذ إحتشاق فتيٍح أحذ 

 اٌمصثاحيه.

The voltmeter reading increases when one 

of the two bulbs is blown out. 

 

……………………..……………………………………..…………………………

……………………..……………………………………..…………………………

……………………..……………………………………..…………………………

……………………..……………………………………..…………………… 

 

اششح اٌذوس اٌزي تمىَ ته  -23

اٌمحىلاخ اٌىهشتيح فً ومً اٌطالح 

اٌىهشتيح مه محطاخ تىٌيذ 

  اٌىهشتاء إًٌ مىاطك تىصيؼها

 .تخذاٌَلاس

Explain the role of electric transformers 

in transportation of the electric energy 

from power plants to the areas where it is 

distributed for domestic use. 

34.  

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..…………………… 

 

 V 

 فولتميتر عمود كهربي مصباح

 

 مصباح
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ؽيفجٍّ٘ضش ٍقجٍٗز ٍيفٔ     -24

200 Ω  ْٚٝقشف ٍؤششٓ إى

أقصٚ صذسٝؾٔ ػْذ ٍشٗس صٞجس 

 .mA 10خلاه ٍيفٔ شذصٔ 

ؽٖذ  : ثفسخ أقصٚ فشقأولا

 ٝقٞسٔ ثىؾيفجٍّ٘ضش.

: ٍج قَٞز ٍقجٍٗز ٍعجػف حاويا

ثىؾٖذ ثىلاصٍز ىضٝجدر ٍذٙ قٞجسٔ 

 ؟V 20إىٚ 

A galvanometer has coil resistance of 200 Ω. 

Its pointer deflects to full scale as a current of 

10 mA passes through its coil.  

First: calculate the maximum voltage 

measured by the galvanometer. 

Second: what is the value of the multiplier 

resistance required to increase its scale range to 

20 V?  

35.  

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..…………………… 

 

ٍٗيف فظ ، ٍٗنغف  ٍقجٍٗز ، -25

ٍضصيز ػيٚ ثىض٘ثىٚ ٍغ ٍصذس ؽٖذ 

 ٍضشدد . ٗمجّش قشثءثس ف٘ىضَٞضش

ػْذ ص٘صٞئ ػذش مو ٍْٖج ػيٚ فذر  

  ٕٚ12.0 V  ٗ15.5 V   ٗ

10.5 V   ُ٘ػيٚ ثىضشصٞخ. فنٌ صن

 قَٞز ؽٖذ ثىَصذس؟

 A resistor, an inductor and a capacitor are 

connected in series across an AC voltage 

source. A voltmeter measures 12.0 V, 

15.5 V and 10.5 V respectively, when 

placed across each element separately. 

What is the magnitude of the voltage of the 

source? 

36.  

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..…………………… 
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 أختش الإجاتح ػه )أ( أو )ب(: -27

اروش تطثيما واحذأ ػًٍ إحذي 

 اٌظاهشتيه الأتيتيه:

 اٌحج اٌىهشومغىاطيسً ( أ)

 اٌتياساخ اٌذواميح ( ب)

 Choose to answer (a) or (b) 

Give one application of one of the two 

following phenomena: 

(a) Electromagnetic induction. 

(b) Eddy currents. 

37.  

…………………………..……………………………………..……………………

…………………………..……………………………………..…………………… 

 

أّذ٘دز أشؼز لاسن تيه:  -33

ثىنجع٘د ٗثىخيٞز ثىنٖشٗظ٘ةٞز ٍِ 

ثلاىنضشّٗجس فٞظ سذخ ثّذؼجط 

 ٍِ ثىنجع٘د.

 Compare between: the cathode ray tube 

and the photoelectric cell in terms of the 

reason of electron emission from the 

cathode. 

38.  

Photoelectric cell 

 اٌخٍيح اٌىهشوضىئيح

Cathode ray tube 

 أوثىتح أشؼح اٌىاحىد

Point of 

comparison  

………………………... 

………………………... 

………………………... 

………………………... 

 

………………………... 

………………………... 

………………………... 

………………………... 

Reason of 

electron 

emission 

سثة اوثؼاث 

 الاٌىتشوواخ

 

ىلأشؼز ثىسْٞٞز  صأعٞشِٝثرمش  -29

ٝؾؼيٖج ٍْجسذز ىضص٘ٝش مس٘س 

 ثىؼظجً.

 Mention two effects of X-rays make it 

suitable for imaging bone fractures.   

39.  

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..…………………… 
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 أختش الإجاتح اٌصحيحح: -33

 

صضدثد مغجفز ثىفٞط 

ثىَغْجغٞسٜ ػْذ ٍشمض ٍيف 

دثةشٙ ثىْجشب ػِ ٍشٗس صٞجس 

  مٖشدٜ خلاىٔ دضقيٞو ...

 

 مساحح ممطغ اٌمٍف.

 ػذد ٌفاخ اٌمٍف

 شذج اٌتياس فً اٌمٍف

اٌىفاريح اٌمغىاطيسيح 

 اٌمٍفٌمٍة 

Choose the correct answer: 

The magnetic flux density increases at the 

center of a circular coil carrying an electric 

current by decreasing ….  

Cross sectional area of the coil. 

The number of the coil turns. 

The current intensity in the coil 

The permeability of the coil core. 

40.  

 

تشاتط فىتىواخ تما اٌممصىد  -41

 اٌٍيضس؟

 What is meant by Coherency of laser 

photons? 

41.  

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..…………………… 

 

ما اٌفىشج اٌؼٍميح اٌتً تىً  -42

 اٌمحشن اٌىهشتي؟ػٍيها ػمً 

 What is the scientific principle on which 

the operation of the electric motor based? 

42.  

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..…………………… 

 

 أ

 ب

 جـ

 د

a 

b 

c 

d 

a 

b 

c 

d 
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  .Choose to answer (a) or (b): 43 أختش الاجاتح ػه )أ( أو )ب(: -43

اٌذائشج اٌمثيىح تاٌشىً فً  ( أ)

حاٌح سويه. مارا يحذث ٌمشاءج 

الأميتش اٌحشاسي ػىذ وضع 

ساق اٌحذيذ اٌمطاوع مه مٍف 

 اٌحج؟ ػًٍ لإجاتته.

(a) The circuit shown in the diagram 

below is in a state of resonance. What 

would happen to the reading of the 

hot wire ammeter when the soft iron 

rod is removed from the inductive 

coil? Explain your answer. 

 

 

 

 

 

 

مارا يحذث ٌمشاءج الأميتش  ( ب)

اٌحشاسي ػىذ غٍك اٌمفتاح 

(K.؟ ػًٍ لإجاتته) 

(b) What would happen to the reading of 

the hot wire ammeter when the 

switch (K) is closed? Explain your 

answer. 

 

 

 

 

 

 

……………………..……………………………………..…………………………

……………………..……………………………………..…………………………

……………………..……………………………………..…………………………

……………………..……………………………………..…………………………

………………..……………………………………..………………………………

………………..……………………………………..………………………………

………………..……………………………………..………………………………

…………….……………..……………………………………..…………………… 

 

 

  

A 

 ملف حث

 مصدر متردد ساق من الحديد المطاوع

 أميتر حرارى

 مكثف

  

A 

K مصدر متردد 

 أميتر حرارى

 مكثف مكثف
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ثسسٌ شنلا صخطٞطٞج : أولا -33

ىذي٘سر سٞينُ٘ ٍطؼَز دزسثس ٍِ 

 ثىف٘سف٘س. 

ثششؿ ىَجرث صنُ٘ ثىذي٘سر  : حاويا

ٍضؼجدىز مٖشدٞج دجىشغٌ ٍِ 

فجٍلاس ّ٘ػٚ ثخضلاف صشمٞض 

 ثىشقْز دٖج.

  First: Draw a labeled diagram for a 

silicon crystal doped with phosphorus 

atoms.  

Second: Explain why the crystal is 

electrically neutral in spite of having 

different concentrations of the types of 

charge carriers inside it.   

44.  

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..……………………

…………………………..……………………………………..…………………… 

 

 




